250
)

5500

5500

5500

250

500,

500,

‘50

6000

6000

6000

500‘
]

Rez A-A
‘ 11500 12150 13450
6200 ‘ 2550 3400
‘ 14700
— § -1.650
] 1.02
1.01 | & \« ».§ 2.20 m?
2
— 2756 m \ +0.000 ru_v
iy \_‘ 3 o e46m
400 5500 2850 250 2750 400/ 1000 3700 4725 1500
o M _
R . = 7
T t A | 2 3
5] +0.000 3
‘ 4260 3240 ‘ 4000 3200 g ‘ 2175 1504 <| 2875 | ‘\ 3250 1000 ‘ 9925
e © 500 110 m o \ S
2 e SE— L — e —2 1, R —— —— R——— e —
g ] 1 555 WE 125% T ] |
| 800 | 1500 225 1500 330 3065 580 1500 225 1500 250 1500 225 1500 2100 7757 1500 {500, 1500 | 225 1500 250 1500 225 "1500 {500, 1500 225 81500 250 1500 225 1500 | 800 \
T+ 7 1800(850) W W W ! W W W W 1800(850) W W 8 I 7 1500(115 )1 W W W ! W W - W 1500(1150)] | |
il ) ) AN 7 I A 1.04 o _ ) : 3
B =) 1 1417 m? Xl=o =0 I -
o R 2 e - B 2 —I4 < NS ~ Ni= I
| D o o - 2] N — N -1 A " § m 7 s r 1 — — - /787 | | — — 4?7
! 1.13 ! ! I iR 1 ! |
\ 1154 m? \ \ \ 1l @ E \ |
] N ! K . Bl 153 |l 154 ] 155 | |
: +0.000 : 1 x o : 1101 m? 1183 m? AR 15m o 1278 m? ‘ \
| o dl | | 8 | | i g i | |
~1 Y ) | - ‘
300 | | 3800 175 3225 175 | 7025 wsof]] | 2525 150 | 2100 150 2175 | 150 3225 150 3500 1500)] | 3400 150 3825 || 300 |
| | | 2 I ] Nl 2 ] |
! I ] ! 1 ! 1 09 = ! i T | g | JI“—\ | i
o ‘ ‘ ‘ ‘ 53.76 m? ‘ ‘ 17.78 m? ‘ ‘ ‘ ‘ I ‘ ‘ | o
= | | [te) & | | | | | ‘ =
[e] ‘ 1 .1‘1 1 .1:2 ‘ N~ ‘ © 1 .()ES ‘ ‘ ‘ ‘ ‘ ! [e]
| 2551 m? _ 17.68 m? | NI 2.78'm? - . L 147 | |
\ - \ \ Y g ||| || | 56.20 m? .46 !
| - | | ey A * 1
[Te} o | ] ‘
i i [ 9 D\ i i
| al ]| ) 1074= 1R n 149 |lp1.48 5 i _ 28
(- N R %4 - = I . b . E LA —L D i 4.69m? . ‘ S
- 1.15 o - | E— ‘ ®
3.65 m? Sa (M) 45 2 !
(1700 125 530 2870 175 3570 15040y 3305 125|150 1500 150 100051250975' 150—~1500| 150 : 1825 150 1525 150 2300 150 1925 |: 150 5550 150 1500 |
1975 ! ad 900 3\ < !j 51 1.50 T ! ‘ ! ‘
Wl | 5w i ] e | | ?
iz — | — v I 24z B 2 o B : 2] E— ; = S v ‘ 1
| | bl 0 P |
30011300 || \/\ \ IM 36200 | = || ! 1300 i 12100
3| o8 \ - || | - || | - | - || | o LT : o238
Sreg-—- g o116 8 | C1a7 8 | g 119 8 i | 85 8
TRez BB ~| «g ‘ ‘ N I 1 3002m? N | Ll 15.04 m? N N 35.28 m? Ll N ‘ | NG
I | | || | ‘
L . il . L . il . i |
7| ~ | ~ | ‘ § i S s f— f— g —— — | —
k | | 1.337]1 |17,37 1! J&4 45 | i
\ 1.08 A0 m? NN ; 08 m? \ !
1.20 121 L 122 ‘ i 21.27 2 it 2 ‘ | [+0.000
10.81 m? 7.76 M2 1133 m? | L 435m ‘
. - g ﬁ% - o - / - 7 H1.32@|p 1.36 || 1. 1.40 Q1D 1.44 | /1. % [—
‘ = 3 l - N 267m 268 m2 agrme [ a97me i 2,68 m? 267 m? 6.09m | |
o~ 2] n ®© = o
1 4225 175 3025 9 »}125 3125 450 3275 175 11475 300 250D 250 240 125 ‘ 2100 125 1500 125 1500 125 1775 11501 1775 125 1500 125 1500 125 2225 ‘ | =
\ - - 7 0 \ \ \ H (111 [| © N ] \ ‘
- - 1 = o | I
\ \ 9 1.26 2 1.28 < \
: L 15,85 m2 2 6itm : e ‘ |
° \ \ —Q \ ~ - \ iR \ | 8 °
i i 1| A i I i i i I
S N \ j L 2 N N || 6501501200150 “ S 10100
| Tl | ‘ 2 | 1l | ;
| | i | | | | [
\ 1.23 - ‘Hl 1.2 ) 7 1.25 \ 1.30 1.34 | . 1.42 \ ! 3
| 36.58 m? 5 ] weem € 2513 m? P 1.29 | 17.88 m? 16.40 m? N 16:40m? 3 18.42 m? | \ )
‘ < 'Y 29.96 m? ‘ iR < ‘ \
7425 125 3425 150 3275 500 —= ot-6700— 125 3725 125 3400 150 3400 125 3850 !
3y 1 | 3y 1 I i |
‘ ‘ +0.000 ‘ e ‘ \
| i | i | |
— -l -
) 77 a2 vaxe ‘
B @ e — - 3 - — — — ’ g -o L . _ — _ =) L _ - 4’7
— I 8 » L] B ‘ SR Il L i PER I |
R || || R || || R || || R |
800 1500 225 1500 3975 i | 1500 225 1500 250 1500 225 1500 | i 5000 ‘ 1700 1000 1500 225 1500 250 1500 225 1500 |500, 1500 225 B{500 250 1500 225 1500 | 800 \
1 77 1500(1150) " ‘ i i 71800(850) 1 1" 2250(0) 1 1500(1150) " 7 i IO = i 7 1500(1150) 1 |
o S | | | |
2 L J L J J = L M ., (- [ J
o I T - re S N 1 - L U T o 1% T
| | 1.57 ‘ S
\ *0.000] | 57.85 m? —r— = ,
i i Section | Section 1
i i i 5 O i
U B 1 ‘
4275 6950 11025 14850
Rez A-A
®
550 ‘ 7200 1650 | 7500 ‘ 7200 ‘ 7200 ‘ 7200 ‘ 550
| [ [ [ [ \‘
300 ‘ 6700 ‘500‘ 6700 ‘500‘ 6700 ‘soo‘ 6700 ‘500‘ 6700 ‘ 300
4500\ [ [ [ 37100 [ [ [ [ ‘50d

TRez B-B

Legenda miestnosti 1.NP Legenda miestnosti 1.NP
C.M. ‘ Nazov ‘ Plocha C.M. ‘ Nazov ‘ Plocha
1.01 |Mistnost 27.56 m? 1.33 |Mistnost 1.08 m?
1.02 |Mistnost 2.20 m? 1.34 |Mistnost 16.40 m?
1.03 |Mistnost 6.46 m? 1.35 |Mistnost 4.97 m?
1.04 |Mistnost 14.17 m? 1.36 |Mistnost 2.68 m?
1.05 |Mistnost 2.78 m? 1.37 |Mistnost 1.10 m?
1.06 |Mistnost 2.90 m? 1.38 |Mistnost 16.40 m?
1.07 |Mistnost 2.98 m? 1.39 |Mistnost 4.97 m?
1.08 |Mistnost 1.22 m? 1.40 |Mistnost 2.68 m?
1.09 |Mistnost 17.78 m? 1.41 |Mistnost 1.10 m?
1.10 |Mistnost 5.55 m? 1.42 |Mistnost 18.42 m?
1.11 |Mistnost 53.76 m? 1.43 |Mistnost 6.09 m?
1.12 |Mistnost 17.68 m? 1.44 |Mistnost 2.67 m?
1.13 |Mistnost 11.54 m? 1.45 |Mistnost 1.08 m?
1.14 |Mistnost 25.51 m? 1.46 |Mistnost 6.31 m?
1.15 |Mistnost 3.65 m? 1.47 |Mistnost 56.29 m?
1.16 |Mistnost 30.02 m? 1.48 |Mistnost 4.69 m?
1.17 |Mistnost 15.04 m? 1.49 |Mistnost 5.81 m?
1.18 |Mistnost 5.10 m? 1.50 |Mistnost 2.78 m?
1.19 |Mistnost 35.28 m? 1.51 |Mistnost 3.16 m?
1.20 |Mistnost 10.81 m? 1.52 |Mistnost 11.01 m?
1.21 |Mistnost 7.76 m? 1.53 |Mistnost 11.83 m?
1.22 | Mistnost 11.33 m? 1.54 |Mistnost 11.53 m?
1.23 | Mistnost 36.58 m? 1.55 |Mistnost 12.78 m?
1.24 | Mistnost 13.63 m? 1.56 |Mistnost 157.30 m?
1.25 |Mistnost 25.13 m? 1.57 |Mistnost 57.85 m?
1.26 |Mistnost 5.85 m? 880.02 m?
1.27 |Mistnost 4.35 m?

1.28 |Mistnost 6.11 m?

1.29 |Mistnost 29.96 m?

1.30 |Mistnost 17.88 m?

1.31 |Mistnost 5.80 m?

1.32 |Mistnost 2.67 m?
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